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Question Generic scheme lllustrative scheme rr::k
12, Method 1 Method 1 3
o' identify common factor o —2(x2 +6x.. stated or
implied by e*
> complete the square .2 —Z(x + 3)2
o> process for ¢ and write in o 2(x+ 3)2 125
required form
Method 2 Method 2
o' expand completed square form | o' 432 4 2abx + ab® + ¢ stated
or implied by e?
o’ equate coefficients > a=-2,2ab=-12,
and ab® +c=7
o’ process for b and c and write in | .3 2(x+ 3)2 425
required form
Notes:

1. —2(x+3)Z +25 with no working gains e' and ¢ only. However, see Candidate E.

2. «'and ¢ are not available in cases where a > 0. For example, see Candidate F.

Commonly Observed Responses:

Candidate A Candidate B
—2(x2+6)+7 ax? + 2abx + ab® + ¢ o v

) 1 , | a=-2,2ab=-12, ab®+c=7 &V
_2((x+3) —9)+7 ol vV &tV h=3, ¢c=25 S A
-2(x+ 3)2 +25 oV o? is lost as answer is not in
See the exception to marking principle (h) completed square form
Candidate C Candidate D

—2(x2+12x)+7 ol x

o x ol x

2((x+6)"~36)+7

2
2((v+6)' -36)+7 e | a(rre)im oF
—2(x+6)" +79 o
Candidate E Candidate F
“2(x+3)"+25 o' Vo2V —2x2 —12x+7
_ 2 _ 1
Check: =—2(x2+6x+9)+25 =2x"+12x-7 ol x
:2(x2+6x...
=-—2x2-12x—-18+25 ,
:—2x2—12x+7 v :2(X+3) 02
=—2(x+3)2... o x
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